InkSurvey question for Monday

Lecture 9

Shadowitz parts of sections 1-5, 1-6, 1-7, and 3-3 may be covered.
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Using the spherical unit vectors is useful when calculating

the flux given E in spherical coordinates. Then you have
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InkSurvey question from Friday

What is the net force on a positive charge?
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Muddiest points:

(1) How was the Lorentz force determined?

(4) Force of wire on itself due to the B it generates.

(7) Relativity and electric and magnetic fields.




(2) Fix charges so v = 0 then

F=qE+0
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What is the force on Q?
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Go to a reference frame moving to the right at speed V
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What Is the torce on Q?
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What have we covered?

Calculate B given currents L,Ce. w i %:D+ 4:—5‘4.0'&4'*
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What are we going to cover?
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